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jlx fc ii. F - et ) = f
'

( ii. P . et ) .n×
, similarly for yandz

If ( h×i - et ) = inf' ( ii. P . et )

b) 3- D wave egu
: ftp.fcryt) = e2P2fCR ,

t )

* fair . et ) = if
"
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tifcr ,ts= I ( B. fear . et ) )=B( in fine . et )) .
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= ii. If
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( iii. et ) = ii. if "( iii. et ) = f
"

( in . et )

c) let's pick × direction along in

f ( hip - et ) = f- ( × - out ) ←
does not depend on YIZ

propagates toward + × at speed c
.



# × → xtucx ,t )

1 1

A) xtucx ,t ) Xtdxtncxtdx ,t)=

= xtdx + 0£
,

.de/+u(x,t )

length dx uustretdud → laugh dx + %fdx
It= YM0¥ = ym .
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extra tensions in the shrug : of =

Y.M.tt#
. ¥

b)

.tt#M_TtyFCxtdx)p.Adx.0jfz=FCxtdx)-FLx)=YM.A.ffg.dx

I÷=tF . ¥ ⇒ e=FE
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Surface : ×2+y2 -122-2=4 → ellipsoid

Point(1/1,1) f ( x. y ,⇒=x?iy 't 22-2-4
,

h= DI

¥ : 2x ¥ : 2y f±z= 42 .

#H

Ff ( 1,1 , 1) = ( 2,2>4 )

IFFC 1,1 , 1) = FEI Fu
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16€ YM derivation :

£ = ( too°g°g) ← stress along x. mishears

a)
¥ 32£ - H . PWTE 3L=p± ⇒ to:O:o) .us#efoI:D

÷€¥oooo¥to€÷# .



b) of
3 . BM - L

It
= YM ' ¥ ZSM - f
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YM= HE
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#
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16.28 compression atom Y

Eu
0 a)Poisson ratro :

- = .
-

stretch along X

Eue) v.  . E÷ . ftp.32.t.IT

c) v= 3BM-2sM6BMt2SM

d) iron 0.31
steel 0.26

if SM<< BM V~ 0,5

stone 0.34

water 0,5



16€ ot= Rmiw

CL = 5.25 Kinks

CT = 3.0 kmls

t ... de t+=¥
,

ot=

dlct
- t

.
)

D= CI .at  x 5000km

CL - CT



16.330
gddµ= goy - BP

if F=o
, p§=Fp

line integral from point 1 to 2 :

§pjdn= §Bpdr→
• " §(If.dxtjHydy+¥zdz)= §dp =p ,

. p ,

:of ( Zz - Zi )

pz
-

p ,
= Pg ( Zz . ZD q

e. d
.


